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This Booklet contains five tests as follows :

Test I - English Language Q.Nos. 1-30
Test II - Quantitative Aptitude Q.Nos. 31-65
Test III- Reasoning Q.Nos.  66-100

You will be given an aggregate time of 1:00 hours to
answer all the three tests. The tests are not separately
timed. You may distribute the time as you please but
remember that to qualify in the written test as a whole
you have to qualify on each of the three tests separately.
Tests of Reasoning and Quantitative Aptitude are
printed in both Hindi and English. The Hindi version is
printed on the left hand side page and the English version
on the right hand side page.

There will be penalty for wrong answers marked by you.
For each question for which a wrong answer has been
given by you, one-fourth or 0.25 of the marks assigned
to that question will be deducted as penalty.

Rough work, if you want to do any, is to be done in this
booklet itself and not on the answersheet. For this
purpose use the empty space in the margin or anywhere
else you find in this booklet. Do not use any other paper.
Indicate your answers on the separate answersheet
(given at the end of the booklet), using HB Pencil. Follow
the instructions given on the answersheet for indicating
your answers.

Your answersheet contains answer-spaces for answering
100 questions. Use 100 answer spaces for answering the
100 questions given in this booklet.

Do not open the booklet Until you are told to do so.
When the instruction for opening the booklet is given,
do not try to remove the wire staples at the left. Insert
the blunt end of your pencil under the sticker and tear it
to open the booklet.

Immediately after opening the booklet, verify that all the
pages containing questions from 1 to 100 are properly
printed in your booklet and then begin answering the
test. In case the booklet is defective get it replaced by
another test booklet.
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Test I
English Language

Directions (Q. 1-5) : Read each sentence to find out whether there is any grammatical or idiomatic error in it. The

error, if any, will be in one part of the sentence. The number of that part is the answer. If there is “No error”, the answer
is 5). (Ignore errors of punctuation, if any.)

L.

1) India took a big step forward on the road/ 2) to reform as a recently brokered political detente held and the Rajya
Sabha/ 3) voted to approve the Constitutional amendment that will/ 4) help usher into the goods & sevice tax./ 5) No
erTor.

1) The regulator is of the view that bank guarantee provided/ 2) by Diageo to Mallya was a financial benefit/ 3) and by
not factoring that into the acquisition price/ 4) it had acted against the interests of the minority shareholders./ 5) No
EITor.

1) Hiring engineering graduates from leading institutes is about to/ 2) turn tough for e-commerce companies, particularly
startups/ 3) after some of them failed to make good on the offers they had/ 4) made in the previous rounds of recruitments../
5)No error.

1) Baring Asia, among the continent's biggest buyout funds, has reversed it stance/ 2) on ICICI Home Finance and
launch a dramatic, last-minute counter-bid/ 3) to wrest control of the firm, throwing a spanner/ 4) in the plans of
American private equity giant TPG./ 5) No error.

1) This is expected to reduce logistics costs by removing barriers to trade, laying the stage for/ 2) more competitive
manufacturing, it will also provide a smooth input tax/ 3) credit mechanism, ensuring each entity pays tax only on the /
4) value added or quantum of consumption, resulting in lower prices. 5) No error.

Directions (Q. 6-10) : Rearrange the following five sentences (A), (B), (C), (D) and (E) in the proper sequence to form

a meaningful paragraph and then answer the questions given below.

10.

(A) Opposition parties have opposed the EPFO's move to raise exposure to equities to ostensibly protect workers'
interest.

(B) Further, the National pension System (NPS), which invests in equity, generates superior returns for its subscribers.

(C) They must see the reason that, equities tend to fetch better returns than government bonds in which the EPF
mostly invests, and will help workers grow their retirement nest.

(D) Its corpus of about T 10 lakh crore is large enough to be invested across risk classes to minimise risk and maximise
returns.

(E) Now, the EPFO invests only 5% of its incremental deposits every month in exchange-traded funds tracking
benchmark indices Sensex and Nifty, though rules allow a maximum 15% of exposure to stock markets, a higher
exposure makes sense.

Which of the following would be the FIRST sentence after rearrangement ?

DA 2)B 3)C 4D 5E
Which of the following would be the SECOND sentence after rearrangement ?

DA 2)B 3)C 4D 5E
Which of the following would be the THIRD sentence after rearrangement ?

DA 2)B 3)C 4D 5E
Which of the following would be the FOURTH sentence after rearrangement ?

DA 2)B 3)C 4D S5)E
Which of the following would be the FIFTH (LAST) sentence after rearrangement ?

DA 2)B 3)C 4D 5E

Directions (Q. 11-15) : Each questions below has two blanks, each blank indicating that something has been omitted.

Choose the set of words for each blank that best fits the meaning of the sentence as whole.
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11.  To accomplish anything, one must not only certain positive qualities but also certain negative
qualities.
1) attain, diverge 2) chase, absquatulate 3) obtain, withdraw
4) inherit, stray 5) acquire, avoid
12. With the Constitutional Amendment Bill passed in the Rajya Sabha, India is keen to the historic
development in the country's indirect tax regime.
1) corporate, witness 2) ecumenical, combat 3) solidarity, disproof
4) independent, cope 5) concord, confront
13. The Congress has been politically adroit: It cannot any longer be obstructionist and the onus of
GST now falls squarely on the centre.
1) consigned, vetoing 2) remitted, objects 3) labelled, implementing
4) inscribed, banning 5) addresed, baring
14.  The productivity of pulses in India has almost at 5.5-7.5 quintals per hectare during the last 50
years or So.
1) pushed on, volatile 2) remained, stagnant 3) vamoosed, precarious
4) moved, whimsical 5) bailed, transient
15. The robust service sector data was by a healthy growth shown by the factory sector, data by the
same agency showed that India's manufacturing activity was at a four month high.
1) slagged, smothered 2) disparaged, regulated 3) slashed, restrained
4) complemented, released 5) deprived, governed

Directions (Q. 16-25) : Read the following passage carefully and answer the given questions. Certain words/phrases
have been given in bold to help you locate them while answering some of the questions.

Recently 110 Nobel Laureates issued a strongly worded plea to Greenpeace to “abandon their campaign against
[genetically modified organisms] in general and Golden Rice in particular.” This is not the first time notable scientists have
waded into the controversy surrounding genetically modified (GM) crops. What is remarkable about this latest foray,
however, is their poor grasp of the facts surrounding Golden Rice.

Golden Rice is an orange-yellow-coloured rice, genetically modified to produce beta-carotene, the precursor of
Vitamin A. Advocates claim it is a powerful way to combat Vitamin A deficiency, the cause of diseases like childhood
blindness, and deaths, particularly among the poor in Africa, South and Southeast Asia. Golden Rice was first developed
around 1999 by two European scientists, Ingo Potrykus and Peter Beyer. The transnational agribusiness corporation Syngenta
currently holds commercial rights to it. Moved apparently by humanitarian sentiments, Syngenta decided in 2004 to sub-
license it free of charge (subject to several conditions, not all of which are straightforward) to agricultural research institutions
in developing countries, through an entity named the Golden Rice Humanitarian Board. The project of taking Golden Rice to
developing countries is housed within the International Rice Research Institute (IRRI) in Philippines.

The Nobel Laureates argue that the reason this innovation has not started saving lives yet is Greenpeace’s criminal
opposition. This narrative of conspiracy glosses over the rather more straightforward explanation: As IRRI itself admits on
its website, Golden Rice is not ready for farmers, yet. There are above-board reasons for this which have little to do with anti-
GM activists.

The Laureates say that Golden Rice has “the potential to reduce or eliminate much of the death and disease caused by

Vitamin A deficiency” (emphasis added). At least two conditions need to be met for Golden Rice to work as hoped: it should
be suitable for cultivation by farmers; and it should be bio-available, that is, the digestive system should be able to extract the
beta-carotene and make it available to the body, thus improving Vitamin A levels.
The two versions of Golden Rice developed so far, Golden Rice 1 and 2, are both Japonica (sticky, dryland) rices, while people
in areas with Vitamin A deficiency in South and Southeast Asia generally cultivate and consume the non-sticky, submerged
Indica paddies. Japonica varieties are easier to modify genetically, but do not perform well in Asian fields. IRRI is still in the
process of crossing Golden Rice into Indica varieties. In 2014, IRRI stated, “Results of the first round of multi-location trials
of Golden Rice showed that... yields of candidate lines were not consistent across locations and seasons, prompting
research direction toward assessing [other] Golden Rice versions.” This is hardly a rice ready for cultivation by farmers - it
has not even entered the stage of biosafety evalution by government regulatory institutions.
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The question of bioavailability is even more vexed. The body does not necessarily absorb beta-carotene because one
eats Golden Rice. The Golden Rice Humanitarian Board’s website quotes a study published in 2012 in The American Journal
of Clinical Nutrition for establishing the effectiveness of Golden Rice. On July 29, 2015, the journal retracted this paper citing
ethical concerns.

Even assuming that ethical concerns do not detract from the paper’s findings, the study design merits attention. The
study saw middle-income, healthy Chinese children consuming a total of 210 grams of pork and other foods over breakfast
and lunch daily, with 40 per cent of their total calorie intake coming from fat. Fats help the body absorb beta-carotene, since
the latter dissolves easily in fats. Unlike customary practice, the Golden Rice fed to the children had been stored at minus
70°C after drying for three days, to avoid any decline in beta-carotene levels with time. Thus, the study design favoured
Golden Rice, rather than reflecting the actual lives and habits of poor Asians and Africans, who generally cannot afford fat-
rich meals every day.

The Nobel Laureates accuse Greenpeace’s campaign of raising the regulatory bar for GM crops. The facts above suggest
that neither Greenpeace nor regulatory hurdles have delayed Golden Rice’s release. In fact, in 2009, the distinguished
biotechnologist, former Deputy Director-General (Crop Science) of the Indian Council of Agricultural Research, who had
worked on Golden Rice at IRRI, categorically stated, “The regulatory system is not the barrier to releasing Golden Rice in
India.” IRRI itself, in its last update released in 2014, said: “Golden Rice will only be made available broadly to farmers and
consumers if it is successfully developed into rice varieties suitable for Asia, approved by national regulators, and shown to
improve Vitamin A status in community conditions.”

Let us, for the moment, ignore the political aspects of Golden Rice and GM crops. Let us overlook the fact that many
sciences (other than physics, chemistry, and medicine represented in the letter) have something to contribute to the debate
over GM crops — in India, agricultural scientists, ecologists, nutritionists, and sociologists, among others, have insightfully
contributed to the debate

16. According to the passage, which of the following is the cause of Vitamin A deficiency?
1) Childhood stone-blindness and death. 2) Childhood blindness.
3) Childhood blindness and malnutrition. 4) Childhood blindness, and infections.
5) Measles, diarrhoea, long sightedness and death.

17.  Which of the following can be said about the international Rice Research Institute (IRRI)?
(A) IRRI's international prestige lends secondary to the country as the center for collaboration in rice reasearch.
(B) IRRI changes the lives of people providing beta-carotene.
(©) IRRIdevelopsnew rice varieties and rice crop management techniques that help rice farmers improve the yield and
the quality of rice.
1)Only A 2)OnlyB 3)Only C 4)OnlyA and B 5)OnlyBand C

18.  Why is the Golden Rice being developed?
A) The Golden Rice is being developed to produce beta-carotene, the precursor of Vitamin A.
B) The Golden Rice is being developed to save lives.
C) The Golden Rice is being developed to save the life of children.
1)Only A 2)OnlyB 3)Only C
4)OnlyBand C 5)OnlyAand C
19.  Which of the following is/are NOT TRUE in the context of the passage?

A) The Golden Rice will only be made, if it is successfully advanced into rice varieties suitable for Asia and approved by
national regulators and shown to improve Vitamin A.

B) The Golden Rice is bio-available and the digestive system is able to lay away the beta-carotene.

C) The Golden Rice has not entered the stage of biosafety evaluation by government regulatory institutions.
1)Only A 2)OnlyB 3)Only C 4)OnlyAand C 5)OnlyAandB
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20. What sufficiency does the Golden Rice has?
1) It has sufficieny to attenuate much of the death and disease caused by Vitamin A deficiency.
2) It has sufficiency to reflect the assessment of the varieties selected for introgression as well as 'golden' trait itself.
3) It is implicitly linked to a perceived reduction in public concern and the commercialisation of Bt corn.
4) It has sufficiency to change with the introduction of the golden trait since it is a direct response to beta-carotene.
5) It has sufficiency to deteriorate vitamin A levels among people.

Directions (Q. 21-23) : Choose the word whichis MOST SIMILAR in meaning to the word/group of words printed in
bold as used in the passage.

21. DISTINGUISHED

1) Flighty 2) Frivolous 3) Goofy 4) Celebrated 5) Common
22. INTAKE

1) Absorption 2) Output 3) Outturn 4) Throughput 5) Production
23.  CONSISTENT

1) Conflictive 2) Conflicting 3) Even 4) inharmonious 5) distinct

Directions (Q. 24-25) : Choose the word which is MOST OPPOSITE in meaning of the word printed in bold as used in
the passage.

24. VEXED
1) Soothing 2) Exasperated 3) Annoying 4) Aggravated 5) Placid
25.  Glosses
1) Sleekness 2) Hides 3) Shimmers 4) Silkiness 5) burnishes

Directions (Q. 26-30) : In the following passage, some of the words have been left out, each of which is indicated by a
number. Find the suitable word from the options given against each number and fill up the blanks with appropriate words to
make the paragraph meaningful.

The GST is now the compulsory levy, since income tax is on disclosure. No wonder IT revenue has long been (26)
behind indirect taxes that are far easier to (27). The government may well be (28) to touch the 18-20% tax band than the 14-
18%. With the government’s proven (29) on healthcare and welfare schemes, savings remains the nest egg for all but the
affluent. The GST load would largely be borne by the lower and middle income groups, significantly (30) their savings.

26. 1) opening 2) running 3)lagging 4) leaving 5) rushing

27. 1) recover 2) tinker 3) revamp 4) maintain 5) restore

28. 1) tempted 2) excited 3) offended 4) gladden 5) indulged
29. 1) volition 2) reluctance 3) readiness 4) inclination 5) willingness
30. 1)breaking 2) elevating 3) pausing 4) reducing 5) fragmenting

IBPSPO-PT-B-015 5
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Test 11
Quantitative Aptitude

fAdw @. 31-35) : A=fafaa wiervi § geamEs fog (?) & W=\ w® ®&1 |96 I afdg?
V5329 -30)2 =2

1)7240 2)6570 3)5670 4)4540 5)3TH 3 BIS TRl
1335 T 13% + 1135 BT 2% =366.5

11 2)13 3)15 417 5)19

1L £ £115260="2

113 % 85 ° o

1)832 2)848 3) 886 4)904 5)3TH | B TRl
2786+105 x 7=304 x 14

D12 2)14 3)16 4)18 5)22

31061208 =2

1)108 2)106 3)102 4)92 5)104

Adw ¥, 36-40) : F=fafa 9@ sigen § uwaEs farg (?) & WUE R @ 94 S AnfRe?
5 21 57 121 21 365 @ ?

1)536 2)561 3)584 4)604 5)628

5 49 481 3841 2

1)23041 2)22031 3)21021 4)20011 5) 19001

8§ 19 52 151 48 ?

1)1120 2)1148 3)1236 4)1284 5)1339

9801 9604 9409 9216 925  ?

1)8836 2)8792 3)8688 4)8542 5) 8466

339 733 1327 2201 3371 ?

1)4677 2)4757 3)4837 4)4917 5)5007

Teh GHMER U Al 35% o9 WR 9ol & | Al 98 I T 528 HH H dorcl] ol I 24% 9 U< BT | 40% AT U1
PR B oy 9 o fbas 7 a== AnfEe?

1)% 6040 2)T 6480 3)Z6720 4)Z 7210 5) T8 A B T8

RIA AT 37T D1 AT AT 5199 8 | AT qAT faorg Bl Ad 3mg 36 99 & A1 gl a1 fasra 31 sfi|d g
4399 & A1 1299 918 AT B 3G B IS B 3G & A1eF U H BI?

1)4:5 2)7:5 3)11:7 4)9:8 5)10:7
37 MG B AR W UBd g9 5% BT T aY 8% Bl qAT AR a¥ 12% B &R A 3 a4 BT aIshalg ATl a7 87
1)% 163600 2)3 189056 3)3 194064 4)%201040 5)3TH | B T8l
‘WEDNESDAY’ 31 & 31eRRi & fhaw UhR | afRerd fhar o ddbar 8 dife a4l TR dh Aref 3?
1)7560 2)15120 3)2520 4)5040 5)3TH | B T8l
A Afdd Th IATHR T & IRI a¥% 99 & | i A¥ad afeaal & e aer 989 @ uifiedr & 87

1 2 1 2 1
D> )5 33 R %

i A BT THTs H 130% P dfeg B ST a5 9P &T%hl § 828 I I a2 ulRATT 162 I 81 el & dl aRdfdd
I BT IRITT T 27

1) 76 3 2) 84 I 3) 114 ¥ 4) 120 3 5)3TH A B T8
IBPSPO-PT-B-015
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Test 11
Quantitative Aptitude

Directions (Q. 31-35) : What should come in place of questions mark (?) in the following equations ?

V5329 -30)2 =2

1)7240 2)6570 3)5670 4)4540 5) None of these
13% 0f 1335 + 2% of 1135 = 366.5

11 2)13 315 417 5)19

2 e of115260 =2

113 *' 85 ° o

1)832 2)848 3)886 4)904 5) None of these
2786+ 105 x 2=304 x 14

)12 2)14 3)16 418 522

31061208 =2

1)108 2)106 3)102 492 5)104

Directions (36-40) : What number should come in place of of questions mark (?) in the following number series ?
5 21 57 121 21 365 ?

1)536 2)561 3)584 4) 604 5)628
5 49 481 3841 2

1)23041 2)22031 3)21021 4)20011 5)19001
8 19 52 151 48 2

1)1120 2)1148 3)1236 4)1284 5)1339
9801 9604 9409 9216 9025 ?

1)8836 2)8792 3)8688 4)8542 5)8466
339 733 1327 2201 3371 ?

1)4677 2)4757 3)4837 4)4917 5)5007

A shopkeeper sold a TV at a profit of 35%. Had he sold it for ¥ 528 less, he would have gained 24%. For what price should
he sell it in order to gain 40% ?
1) 6040 2) 6480 3)% 6720 4% 7210 5) None of these

The average age of Rahul and Ajay is 51 years. The average age of Ajay and Vijay is 36 years and the average age of
Rahul and Vijay is 43 years. What will be the ratio of the age of Ajay to the age of Vijay after 12 years ?
D4:5 2)7:5 3)11:7 4)9:8 5)10:7

What is the compound interest on X 7 lakh for three years if the rate of interest is 5% for the first year, 8% for the second
year and 12% for the third year ?

1)%163600 2)% 189056 3)% 194064 4)%201040 5) None of these
How many difference arrangements can be made from the letters of the word “WEDNESDAY" such that all vowels come
?
t1(;g7?5tél()e o 2)15120 3)2520 4)5040 5) None of these
Seven persons are sitting around table. What is the probability that three particular persons are sitting together?
1 2 1 2 1
D> 2 33 s D%

Ifthe length of a rectangle is increased by 130%, its area becomes 828 sq cm and perimeter 162 cm. What is the perimeter
of the original rectangle ?
1)76 cm 2)84 cm 3)114cm 4)120cm 5) None of these

IBPSPO-PT-B-015 7
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ST I ATAT B a1 &1 g4 600 fHH1 8 | U YRSl A ¥ B @ foly G I W9 3/ Vel B A S forg @M
BN B | ST YSRTIEY SO ATAT P BT & NS B 918 T G W Al 2| AW B I 1 I8 e, 3y
TS ¥ 15 fhH /8T Y arel | :1fdd doi | Sl € a1 R Fei arell XSt &I aTel a9l gei drell Yol rs)
@) TS AU RN 57

1)2:5 2)2:3 3)3:5 4)7:8 5)3TH | B T8l

A, Baen C B0 &1 &1 s 30 T, 45 a7 T2 60 a7 9 &= Fad 81 9 U A1 BRI $RAT YD B & g A
10 &1 918 1 BISEHR Il Ial € | B, 1 QX1 814 4 Ul & U8l B BIsax el Sfdl g dl s fha- &
H gof g

1)30 e 2)28faT 3)25 & 4)24 e 5)20 faq

0 afdd A, Ban C 11 o9 # a1t faax 3905 FHA 8 | AT C 13 &7 § g 11 fAddr 3055 BA ¢ |
Bl C 1737 # ud A1 fAdd: 4760 BATA & @1 AGRT 15 a7 # &8 18 f BT 60% F1 =7

1) 960 2)3 840 3)3720 43675 5)3TH | B T8l

U BR P QTP Uga H 33 €< oicll 2 | AT a1 B 10 fBH /51 o1 &R a1 S a1 98 9914 g9 a3 e
H 559C B G oW | P QB I Bl g AT 77
1)775 {4t 2) 800 fobHr 3) 825 T 4) 850 foHr 5)875 T+t

Ade (9. 51-55) : Fafofaa oza o 9 Af= Rereml | gem S0t gud Aoft Fen R Goft § Sifor 2@

ara et & ufiera &1 <ot T ) aifere & faft= fenedi & A S0 3§ Ss<ifo s o ga w=n B
Terfan R

—e— Ist class —m—2nd class —a— 3rd class

60 T

50 A

40 ~

30 A

20 A

10

Schools

Number of Students

School passing in 3rd class

35

36

100

80

78

mlm|lolao|lwm | >

130
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Two places A and B are 600 km apart. A train leaves A for B and at the same time another train leaves B for A. Both the
trains meet after eight hours of starting their journey. Ifthe train travelling from A to B travels 15 kmh™' faster than the
other train, what is the ratio of the speed of the slower train to the speed of the faster train ?

H)2:5 2)2:3 3)3:5 4)7:8 5) None of these

A, B and C can do a work in 30 days, 45 days and 60 days respectively. They started the work together but A left after
10 days. B left the work five days before the completion of the work. In how many days was the work completed ?
1) 30 days 2) 28 days 3) 25 days 4) 24 days 5) 20 days

Three persons A, B and C together earn¥ 3905 in 11 days. A and C together earn¥ 3055 in 13 days. B and C together earn
4760 in 17 days. What is 60% of the earning of A in 15 days ?
1) 960 2)% 840 3)%720 4% 675 5) None of these

A car travels from P to Q in 33 hours. Ifthe speed is reduced by 10 kmh ™ it will cover the same distance in 55 hours. What
is the distance between P and Q ?

1)775 km 2)800 km 3)825km 4)850 km 5)875km

Directions (Q. 51-55) : Following line graph shows the percentage of students who passed in 1st class, 2nd class and

3rd class in an exam. The table shows the number of students who got 3rd class in the exam from different schools.

—e— Ist class —m—2nd class —a— 3rd class

60 -
50 -
40 -
30 -
20 -
10 -
0
A B . - ) :
Schools
School | Number of Students
passing in 3rd class
A 35
B 36
C 100
D 80
E 78
F 130

IBPSPO-PT-B-015 9
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e § gt IO Y BIFT D G T Y Ao 9T e ATt faenfiai @ S & 9= @ ofdr @ 87

1)1043 2)1045 3)1047 4)1049 5)1051

A ol 34 S<Afor 21 arel fenfeial o | e, SIiv 819 arel fe (el @1 | &1 fed g 8?
1)26.5% 2)27.5% 3)28.5% 4)29.5% 5)30.5%

gorg Ao 9T B+ diod faenffal @) dwan faa faerea § sifdeda 27

HA 2)B 3)C 4)E 5)F

T ©: faareral § teare fAeres a1 a1 g2od a1 IR ol ute dee arel faenfeiat &1 siad @ 87

1)170 2)172 3)174 4176 5178

faener E& qat faenfial o1 s fSeer drar 8ol e @1 8, fdenea Be fa [enfii o dwen e vem 5o
uTe B 8 BT b ufcerd 87?

1)45% 2)50% 3)55% 4)60% 5)65%

A (. 56-60) : yA® ge= | g1 FHiHROT (1) T (1) A W 71 A1 THHEROT B T D SR < |
Dafkp>q 2)afd p>q 3) A p<q
4HAfkp<q 5 AR p=qa pTAT q @& N DI Hae AT &I fan S AHan
L.2.3p—20.01=0 IL2.9q—p=0

Lp=.1764 1L ¢>=1764

L p*—26p+168=0 IL ¢2—25q+ 156 =0

Lp*—13p+42=0 ILg+q-42=0

L 6p—5q=—47 IL5p+3q=11

fAader (1. 61-65) : fA=IfoIRaa <= e | a¥ 2010 | 2015 @ RN A A D oY 99, 71 B FI I

A B BB @d bl S9IiAl TR 2

61.

62.

10

—e— Expenditure of B (in Rs. Lakh) —#— Profit of A —&— Income of B (Rs. Lakh)

90 -
80 -
70 -
60 -
50 A
40 - 40

77 80

72

48.6

45
30 n 36
20

10 - 20

2010 2011 2012 2013 2014 2015

Years

gy 2010 § B A TAT B BD o9 Uferd & g &7 37dR /1 87

1)5% 2)7% 3)11% 4)12% 5)15%
e g9 2011 § ¥ A DI A1 T32.5 ARG Y <1 99 2011 H B ATAT BB Yg A9 BT AIThe T AT?
1)T12.8 &G 2)%13.29 3)T 15 4)16.5 o 5) 38 A B T8



51

52.

53.

4.

35.

BSC Academy

What is difference between the total number of students passed and the total number of students getting st class in the
exam ?

1)1043 2)1045 3)1047 4)1049 5)1051

Total number of students who got 3rd class is what per cent of the total number of students passed ?

1)26.5% 2)27.5% 3)28.5% 4)29.5% 5)30.5%

From which school is the number of students who got Ist class the maximum ?

DA 2)B 3C 4HE S)F

What is the average number of students from and the six schools together who got either first class or third class ?
1)170 2)172 3)174 4176 5)178

Total number of students from school E who got third class is what per cent of the total number of students from school
B who got first class ?
1)45% 2)50% 3)55% 4)60% 5)65%

Directions (Q. 56-60) : In each of these questions two equations (I) and (II) are given. You have to solve both the

equations and give answer.

56.

57.

38.
9.
60.

Difp>q 2)ifp=q 3)ifp<q
4)ifp<q 5) if p = q or no relation can be established between p and q.
1.2.3p-20.01=0 I1.2.9g—-p=0

Lp=.1764 IL *=1764

L p*—26p+168=0 IL. g>°-25q+ 156=0

Lp’-13p+42=0 ILg>+q-42=0

L. 6p—5q=-47 IL5p+3q=11

Directions (Q. 61-65) : Following line graph shows the percent profit of company A, income of company B and

expenditure of company B from 2010 to 2015.

61.

62.

—e— Expenditure of B (in Rs. Lakh) —8— Profit of A —&— Income of B (Rs. Lakh)

90 -
80 -
70 -
60 -
50 A
40 - 40

77 80

72

48.6

45
30 n 36
20

10 - 20

2010 2011 2012 2013 2014 2015

Years

What is the difference between per cent profit of company A and company B in the year 2010 ?

1)5% 2)7% 3)11% 4)12% 5)15%

If theincomeof company A in year 2011 wasg 32.5 lakh, what was the sum of the net profit of company A and company
Bin2011?

1)%12.8 lakh 2)%13.2lakh 3)%15lakh 4)16.5 lakh 5) None of these
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63. fa=ferRaa o & fow ad & &#=1 B &1 o9 uforerd Srfeds om?

1)2011 2)2012 3)2013 4)2014 5)2015

i ay 2014 H T ADI T I 45 ARG A1 1 a9 2014 H BT AP F§ o9 D1 BD g oA b1 b uferera
g7

1)15% 2)25% 3)40% 4)75% 5)80%

65. Tfe a9 2015% HHT A DT A T 90 G o) Al HFIN BHT Y& o9 HHN AD g o I feba Tfcrerd a1fees 87

12

1)30% 2)60% 3)75% 4)80% 5)90%
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63. In which of the following years was the per cent profit of company B maximum ?

1)2011 2)2012 3)2013 4)2014 5)2015

64. Ifthe expenditure of company A in year 2014 was X 45 lakh the net profit of company A is what per cent of net profit of
company B in 2014 ?
1) 15% 2)25% 3)40% 4)75% 5)80%

65. Ifthe income of company A in year 2015 was X 90 lakh the net profit of company B is what per cent more than the net
profit of company A ?
1)30% 2)60% 3)75% 4)80% 5)90%
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T 11
difbes &rFen
fAder (9. 66-70) : Fr=fofaa amsli @1 waMyds Jed gu R A 1Yyl &1 SR |
T ST H IATS HHANI qUAI, Soid, oM, A9, TER, T, 9 T SifdaR A e —3reld 3w oy
UIEaR, R & D A1 f$S18 # &R &_d B | 390 I U fAf= 1 =1el, Uien, §a<), e, &1, S, Blell qoi1 =71 3
TG PRA T, W oTod) 781 b I 50 %9 ¥ 8 | I 9 31 dHar) Ua & T | srf 781 &ed B
e DI AT I UHE § T1 98 R & D 39T # &I 81 =al © | STER [Srg = fa9rT § Sri 981 $al g a2 39
G121 e T U6 T2 7 | 9, e foum | Rt ovar g den 99 7 a1 el 3R 7 & dien 31 wE § | g,
YrsEE AT § Dact Solid & 1 BRI HRAl 8 ST & BIell T TRIS HRal © | U1 97 SIfRR, aRi¥ & A1) b Jal
PR & | 98 O e 7 a9 ®, fSomsf= vt 9 &l axar 2 | 98 579 9ak) 9 u¥E B, UrsaRE faumT | i dRan
2| g8 o feomsfi faurt # &Rl axar 8, S0 7 41 9%e 3R 9 & & U 8 | SR Ger 31 wig T8 dRar B

66. STeR &I f=falRad § & @19 a1 397 u9g 87

1) 2) &0 RN 4) e 5) 38 A B T8l
67. Fr=feRaa 5 4 &7 FHaiRAl &1 e Sms f9rT § 1R w=ar 57

1) T=1I— a9 g 2) Joild— g9 — a=iH 3) I RIH- STER

4) T G- YT 5) T8 A B T8
68. f=ifelRaa # | $IF 997+ 11 W] HRaT 27

1) T 2) AU 3) a4 4) ST 81 T S Hepar 5) a9
69. fr=aforRaa # & fora favmT % o=T B dveft 87

1) greaR 2) feom 3)R&D 4)1312 5)3TH A B T8l
70. f=ifalRaa | @19 A1 |@aoE 9@ 87

1) T ISR BTl 2) 91— feaImg - 31 3) THI-R & D — &1

4) T T B | 5)3TH & BT e

e (9. 71-75) : A A A uAD 9T |, IR FAA 3R WD 91 9 [Awpd L I 3R 11 A & &1 et
| FEl P WL AF § AR 9 9 9@l | A= @ @ 9 9@ iR a9 FAvfy AR Fom § & i gam @
IFAR B A/A Fpd s w9 F IGERY FRa1 & A W AR

71. HUF : |1 uTer H ¢ | T4 T el 2 |
%9 fdeeh 92 2 | BB I8 950 ¥ |
A - L. 5B el arerg 2 | IL 38 969 fdeell 81 1L B I8 G © |
1) &It 1 STTARVT Fral 2 | 2) St 1T 11 TTART Hel B |
3) ®act [T [IATIRO FRATS | 4) T IIFARYT B © 5)3TH & BT o
72. @A : G AT AT € | B A forell 2|
EB oM HRATeS © | PIs Ao FIFATIR 8T © |
A - L. 5B forell Hles € | IL 3T% el #Mes T2 © M1 BIS F0ard” SIF 78 ¢ |
1) BT JFERON &1 BRI 2 | 2) Hae [ ITHRVT B ¢ | 3) dael 11 ERT HAT 2 |
4) &9 111 STTERYT B 2 | 5) Baet 17 11 SITEROT el ¢ |
73. @A : FB I W E | B TR I E |
T I BIed € | T BT YWERT § |
A - L A §Tet WERE & | II. BB =R BIcd B |
III. §B TR WERE & |
1) Y STTEAROT Rl B | 2) BT 1 ARV Fral B |
3) ®ad [T HIATERY R & | 4) Daa [TAT 11 JFIFRO B © | 5)3TH & BT Ta
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Test 111
Reasoning Ability

Directions (Q. 66-70) : Study the following information carefully and answer the questions given below:

There are eight employes Sapna, Ujit, Wasim, Yunis, Zaheer, Tanmay, Vansh and Xavier of an organisation working in
three departments viz— Production, R & D and Designing. Each of them has a different choice of colours, viz— Blue, Yellow,
Orange, White, Green, Voilet, Black and Brown but not necessarily in same order. There are no more than three employees in
any department.

Vansh likes Brown colour and does not work in R & D. Zaheer does not work in Designing and does not like either
Yellow or White colour. Wasim works in Desiging and likes neither Blue nor Yellow colour. Yunis works in production with
only Ujit, who likes Balck colour. Sapna and Xavier do not work in the same department as Wasim. The one who likes Blue
colour works in Designing. The one who likes Orange colour work in production. Those who work in Designing like neither
white nor Green colour. Xavier does not like Yellow colour.

66. Which of the following colours does Zaheer like ?

1) Orange 2) Green 3) Brown 4) Blue 5) None of these
67. Which of the following groups of employees works in Designing department ?
1) Tanmay — Vansh — Wasim 2) Ujit — Vansh — Wasim 3) Vansh — Wasim — Zaheer
4) Tanmay — Vansh — Sapna 5) None of these
68. Who among the following likes voilet colour ?
1) Tanmay 2) Sapna 3) Wasim 4) Can’t be determined 5) Vansh
69. In which of the following departments does Sapna work ?
1) Production 2) Designing 3)R&D 4) Either 1 or 2 5) None of these
70.  Which of the followng combinations is true ?
1) Vansh — Production — Black 2) Vansh — Designing — Brown 3) Tanmay—R & D —Green
4) All are true 5) None is true

Directions (Q. 71-75) : In each questions given below four statements are followed by three conclusions numbered I,
IT and I11. You have to take the given statements to be true even if they seem to be at variance from the commonly knows facts.
Read the conclusions and decide which logically follows from the given statements disregarding commonly known facts
and give answer.

71. Statements: All pets are dogs. All dogs are cats.
Some cats are rats. Some rats are goat.
Conclusions : I. some cats are pets. II. Some goats are cats.  IIL. Some rats are dogs.
1) Only I follows 2) Only I and II follow 3) OnlyI and III follow
4) All follows 5) None of these
72. Statements: Some roses are jasmine. Some jasmines are lilies.
Some jasmines are marigold. No marigold is sunflower.
Conclusions : I. Some lilies are marigold. II. No lily is marigold. III. No sunflower is jasmine.
1) None follows 2) Only I follows 3) Only II follows
4) Only III follows 5) Only either I or II follows.
73. Statements: Some flats are houses. Some houses are bunglows.
All bungalows are hotels. All hotels are restaurants.
Conclusions : I. All bunglalows are restaurants. I1. Some houses are hotels.
II1. Some houses are restaurants.
1) All follows 2) Only I follows 3) Only II and III follow
4) Only I and II follow 5) None of these
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74, A : B g fird ¥ B fird $7F 2|
IS 477 frarg & 2 | a4l fieTg Sord € |
A - L3S M eae T8 21 1L %5 i fAerE 2 1L @S9 fieTE 2 |
1) ®act 1 AFERT BT 2 | 2) ®ael 111 FFARVT BT 2 |
3) ®ad [ TN [IATERY R 8| 4) Bl JARYT 8] BT 2 | 5)3TH & BT Ta
75. B : TG IR TeH ¢ | BIS UeH Haxl T8l ¢ |
T TN 99§ | FTH U9 TS T |
A - L 3IS UeH 99 781 2 | I1. BB 3R AT 2 [ FH AN 38 ¢ |
1) ®act 1 AFEROT AT 2 | 2) ®aet 11 TR BRAT 2 | 3) @ad [11 3FARYT BT 2 |
4) BT IFTERON TE HAT 2 | 5) 38 A PIs el

A9t (9. 76-80) : 39 UFH1 H, BA H III-3MNT d<dl B & Yeb HEY AT AT B | HAAT B ) ey A
g1 Swr dfere:-

1) afg Baat frepd 19 B | 2) afe Baat frspy 119 2 |
3)afg an o1 ey 191 19 B | pHafead frpd 98 ITT |
5) afe T frspd &R 19T § |

76. AT :Y>Q>R>S,Y=Z Y<A
fA=pd:1.2>S ILS>A

77. B :Q2T,T<Z,Y=ZY>A
s : L. T=Y ILY>Q

78 ®AF :T<U,U>S,U=X
fAspd: 1.S<T ILT<X

79. ®AT :N<A=T,B<H>M>T
fAspd: 1. A<H ILN>M

80. @M :K<L,L>M,M<O<P,Q=K
fpd:1.Q=M ILP>L

e (9. 81-84) : Ffafa gaell # wFyd® dgd gu A A g geAl &1 SR |

R18d Sl b U fdenedi & ufdfes faemera ST 8 | 9avy usel 98 U =R ¥ 80 HIex Jd &l aR% doidl & aoil fhR
T8 T JedT B 3R 40 Hex oIl B | 98 IART ¥ aR% T & AT 60 HeX AT B | I=Ick: I8 I8 a¥% Jedl 2
3R ey ugaar & S f SE 20 HieR 31 g R B |

To o faenea #§ o=l SaR o g8 off 9o o9 e ugen gl H 9:45 991 U A | I A1) e 81 @ o f
Y faerea § uge d <) 9 8 oY | YA fAenefl faeney & siex ugu ¥ S e &1 |H of 8 o |

81. faemer vgd & wR ¥ fow fazm # Rerq 27

1) &faror 2) &feor—gd 3) STR—Yd 4) STR—f¥TH 5)qd
8. g &N faened ugem # g I7 @ T8 g8 R’ 87
1)200 4 2)80 4 3) 160 A 4)1209 5)100 A
83. A gl & A 30 faenefl & 1 98 fbw wwy fdere ¥ iy gar?
1)10: 15891 2)10: 30 &1 3)10: 05 &0t 4) ST 8 fBaT ST AHhdT 5) S0 A BIg T8
8. faenerd den gd & WX @ 1 o JAaH g8 R 57
1) 2043 # 2) 2543 A 3) 204/5 4) 2042 A 5) ST =& foban it e
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74. Statements: Some lemons are chilies. Some chilies are brinjals.
No brinjal is sweet. All sweets are desserts.
Conclusions : I. No brinjals is dessert. I1. Some chilies are sweets. III. Some desserts are sweets.
1) OnlyIfollows  2)OnlyIlI follows 3)Only II and III follow 4) None follows 5) None of these
75. Statements: Some grapes are plums. No plum is orange.
All oranges are apples. Some apples are guavas.
Conclusions : 1. No plum is apple. II. Some grapes are guavas. III. Some oranges are guavas.
1) OnlyIfollows  2)Onlyll follows 3)Only III follows 4) None follows 5) None of these

Directions (Q. 76-80) : In these questions, relationship between different elements is shown in the statements. These
statements are followed by two conclusion. Mark answer.
1) if only conclusion I is true. 2) If only conclusion Il is true.
2) If either conclusion I or I1 is true. 3) if neither conclusion I nor II is true.
5) If both conclusion I and I are true.
76. Statements : Y>Q>R>S,Y=7,Y<A
Conclusions : 1. Z> S II.S>A
77. Statements : Q>T, T<Z, Y=Z,Y>A
Conclusions: L. T=Y ILY>Q
78. Statements : T<U,U>S, U=X
Conclusions: I. S<T ILT<X
79. Statements : N<A=T, B<H>M>T
Conclusions: . A<H ILN>M
80. Statements : K<L, L>M,M<O<P, Q=K
Conclusions : I. Q=M II.P>L

Directions (Q. 81-84) :Study the following information carefully and answer the questions given below:

Rahul, who is a student going to school everyday. At first he walked 80 m towards east from his home and took a right
turn and walked 40 m. He again took a right turn and walked 60 m. Finally he took a right turn and reached the school, which
was 20 metres away.

One day, there was a long queue at the school and when Rhaul reached it was 9 : 45 O’clock. He was a little worried about
he would be late to reach his school. It was taking one and half minutes for every student to enter the school.

81. In which direction was the school located from Rahul’s home ?
1) South 2) South-East 3) North-East 4) North-West 5) East

82. What was the total distance covered by Rahul to reach school ?
1)200m 2)80m 3)160m 4)120m 5)100m

83. [Ifthere were 30 students ahead of Rahul, at what time did he enter the school?
1)10:150°clock  2)10:300’clock 3)10: 05 O’clock 4) Can’t be determined 5) None of these

84. What is the shortest distance between the school to Rahul’s home ?

1) 2043 m 2) 25{/3 m 3) 20/5 m 4) 2042 m 5) Can’t be determined
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85. TP god P ARG SURT $RA g A el 8 “d8 1 Il S Shelld g3 &1 g3 2 "3 dsdb o A4f A0 4 {5
THR HIed 57

1) #Tel 2) 3) g8 4) B 5)3TH | B TRl
86. N,U®! d&-1 &8 q2 V,UBI 9IS & | Z, UST fUd1 8 Jon X. Y& g3 & i1 i N1 #f 8 a1 Y@l fban g =2
1) Th 2)a 3)A 4) S1a &1 fan T Al 5) S99 9 DIg T8

e (9. 87-91) : Ffafa gael # wFyds dgd gu A A ¢ el &1 SR |

TP ®f ¥hol H 89 A, B,C, D, E, F, G AT HUS IATHR Al & IRl IRG b5 A IR HI RS & D 90 §U
2 S 9 U A= w1 Sad), wRad), A, oiid, WE, S[F A9 JFRA H URT gV €, WReg Wedl el b A g o H
&l |

D,B® 9¢ J R ¥IF W 981 8| C,A D qTU I IR WM TR J0T & | C T AW I Ugel Y7 §U T | 98 1 o
H UqT g B, AT B S1% 919 901 g1 8 | E, il 99 991 &, Ad1 D &l Mdbead UsI¥dl 781 & | H, $ad D I8 8 |
H,G @& &TU ¥ ¥R I W 937 8 | G, E &7 dheas uerl 78 81 A, CH BITT 2| B, F ¥ Ugl YT g ¥ |

87. B WE W T W TSI 87

HA 2)C 3)B 4G 5) 38 A B T8
88. P F& a1V | IR WM W 981 87

1) @& Sl A/ # UaT 837 & | 2) a8 Si e H UaT g3m T |

3) a8 Sl Jolls ¥ UaT gam 2 | 4) T8 ST 97 H ST ga B |

5) T4 | DI TE
89. Hfad Are # Yar gar 17

1)\ 2) BRA 3) et 4) SeTs 5) g4 | PIg T8

90. B dey # fA=aferRad # & &9 1 4 9 87
1)B,H® 3¢ & A1 WIH R 2 | 2) 98 Sl e 71 ¥ U1 g B Bd S 918 ] B |

3)B,HU BICT B | 4)ETN D& 919 IR aafad 93 B
5) T4 | DI TE
91. ket ATE # UST B aTel & b fudd B 997 87
HA 2)H 3)F 4)D 5) 38 A B T8l

fAder (9. 92-9¢6) : Fr=fofa amsl @1 eFyd® Jed gv - A 1Y uwi &1 SR |

IRE Afdd A, B, C,D,E,F, T, U, V, W, X, @1 Y & =R BRI § 93 & | AR 17 A, B, C, D, ETT F 3 E den 84
|1 BT H SIRI0T BT IRG 8 STaids HAR 24 T, U, V, W, X AT Y IS 8 AT 39 A1 BT & SR B! IR & TR ST
T8 fh I N H

V, ol f6 FAIR A M BR W, Y 90 A SR WM W | UTAT T 99 Q1 Afdd € | F A0 AD 9 bIdt U
AT ST B IB,DH TV A TRR WA R IS8 I B, VAT YD AmId 98l SST1 8 | FAAT A, VS faudig 81 S8 8 1 C, F
DA H ST R W, SNAD fAudid § 78f 981 2 98 U & 97l H ) 9281 931 & |

92. ®IF D fawia 9a1 87

Hu 2)Y )W 4)X 5T
93. EdYN F & dr9 foha afaq 93 287
1) TR 2)d= 3)al 4)UdH 5) 38 A B T8l
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85. Pointing to a child, Ragini says, “He is the son of my grandmother’s only son.” How is the boy’s mother related to
Ragini?
1) Mother 2) Aunt 3) Sister 4) Cousin 5) None of these

86. Nissister of Uand V is brother of U. Z is father of U and X is daughter of Y, who is mother of N. How many daughter’s
does Y have ?
1) One 2) Two 3) Three 4) Can’t be determined 5) None of these

Directions (Q. 87-91) : Study the following information carefully and answer the questions given below:

In a play school eight baby A, B, C, D, E, F, G and H are sitting around a circular table, facing outside from the centre.
Each of them was born in a different months of a year—January, February, March, April, May, June, July and August but not
necessarily in the same order.

D is sitting second to the left of B. C is sitting third to the left of A. C and A were born before April. Only the one who born
in June is sitting exactly between A and B. E, who is the eldest, is not an immediate neighbour of A or D. H s older than only
D. H is sitting second to the right of G. G is not an immediate neighbour of E. A is younger than C. B was born before F.

87.  Who is the second oldest in the group ?

DA 2)C 3)B 4HG 5) None of these
88.  Who is sitting third to the left of F ?

1) The one who born in March. 2) The one who born in April.

3) The one who born in July. 4) The one who born in June.

5) None of these

89. In which month was H born ?
1) March 2) February 3)April 4) July 5) None of these

90. Which of the following statements is true regarding B ?
1) Bis sitting fourth to the right of H.  2) The one who was born in February is on the immediate left of B.
3) Bis younger than H. 4) There are four persons sitting between E and D.
5) None of these

91. Who sits exactly opposite the one who was born in April ?
DA 2)H 3)F 4D 5) None of these

Directions (Q. 92-96) : Study the following information carefully and answer the questions given below:

Twelve people A,B,C,D,E,F, T, U, V, W, X, and Y are sitting in two parallel rows. In row-1 A, B, C, D, E and F are seated
and all of them face south while in row-2 T, U, V, W, X and Y seated and all of them face north but not necessarily in the same

order. Therefore in the given sitting arrangement each person seated in a row faces another member of the other row.

V, who is at one of the ends of the row, is second to the left of Y. There are two persons between U and T. There is only
one person sits between F and A. B sits third to the right of D. B doesn’t sit opposite either V or Y. F and A don’t sit opposite
V. Csits adjacent to F. W, who doesn’t sit opposite A, is not adjacent to U.

92.  Who sits opposite D ?
HU )Y W 4HX HT

93. How many persons sit between E and F ?
1) Four 2) Three 3) Two 4) One 5) None of these
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Ife o B < TS FaRen H E, X G & S a1 A B, T Gdfd & 1 S a3 fer=faRad & 9 &1
D ¥ efdd 87

HU 2V )W 4Y 5)3TH | B TRl
P9 HAR H A BIR W Ja1 87

DV, T 2)B,D 3)V,W 4)E,A 5)3TH | B TRl
C® Fed ¥ f=falRed & &9 a1 w9 87

)Y, C® famid g | 2) U, C & famdid 93 aafad &1 fdpean Teii =81 2 |

3)F,C® 97Tt H T8l & | 4)C, 3N BR I G WM R a7 B |

5)T 39 afdd & fAuRId 9871 8 off f6 C & 90 & R 9 WR 93T & |
fAder (9. 97-100) : F=ifefaa gaei @1 wFgEs yed gu -9 A MY gw=i &1 SR S|

LCARIEEN DC Nl # ‘netincome from operations’ Pl ‘P81 S84 Q85 K82’ foradl €, “net profit from ordinary activities’

Bl “Q85 S72 T91 P81 R87’ folRad &, “the ordinary income’ BT ‘K82 N75 $72” foRad & @2 “net profit for the period’ &1 ‘L77
N75M93 R87 P81’ forad |

97.

9.

9.

‘M93’ foharas oy wge gat 87

1) for 2) profit 3) period 4) S1a &1 fan T \ddl 5) S99 | DIg T8
‘operation’ & fory fr=aforRaa # &1 &I |1 e 27

1)Q85 2)S84 3)K82 4) S1a &1 fan T |\l 5) S99 | BIg T8
frIfeRad 5 | @I A1 g “profit from activities” BT USRI Har 272

1)R87 Q85 T91 2)C77Q85R87  3)R85Q87T91 4)R87Q87T91 5)3TH | B TRl

100. “income tax’ @ forg f=felRad # & &9 A1 e 8 AHar 2?

20

1)K82 Q85 2)K82 R87 3)K82H52 4)K82L77 5)3TH | B TRl
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94. IfE isrelated to X in the same way as B is related to T, based on the given arrangement. Who among the following is
related to D, following the same pattern ?

HuU 2)V IIW 4HhY 5) None of these
95. Who sits at extreme ends of the row ?

HV,T 2)B,D 3))V,W 4 E,A 5) None of these
96. Which of the following statements is true about C ?

1) Y sits opposite C. 2) U is not neighbour of the person who sits opposite C

3) Fis not adjacent to C. 4) Csits second from the right end.

5) T sits opposite that the person who sits third to the left of C.
Directions (Q. 97-100) : Study the following information carefully and answer the questions given below:

In a certain code language ‘net income from operations’ is written as ‘P81 S84 Q85 K82’, ‘net profit from ordinary
activities’ is written as ‘Q85 S72 T91 P81 R87’, ‘the ordinary income’ is written as ‘K82 N75 S72’ and ‘net profit for the period’
is written as ‘L77 N75 M93 R87 P81°.

97. What does ‘M93’ stands ?

1) for 2) profit 3) period 4) Can’t be determined 5) None of these
98.  Which of'the following is the code for ‘operation’ ?
1)Q85 2) S84 3)K8&2 4) Can’t be determined 5) None of these
99.  Which of the following represent the code for ‘profit from activities’ ?
1)R87 Q85 T91 2)C77Q85R87  3)R85Q87T91 4)R87Q87T91 5) None of these
100. Which of the following may be the code for ‘income tax’ ?
1)K82 Q85 2)K82 R87 3)K82 H52 4)K82L77 5) None of these
IBPSPO-PT-B-015 21
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1. 4; Replace ‘into’ with ‘in’

2. 1; Insert ‘the’ before ‘bank’

3.2; Replace ‘tough’ with ‘tougher’
4.2; Replace ‘launch’ with ‘launched’

5.5
(6-10): ACEDB
6.1 7.3 8.5 9.4 10.2
1.5 12.1 13.3 14.2 15.4
16.1 17.3 18.1 19.2 20. 1
21.4 22.1 23.3 24.1 25.2
26.3  27.1 28.1 29.2 30.4
31.2; 4/53.29 +(30) 2 =7.30 X 900=6570
33.4.9- 366.5—(1335x0.13)x100: 192.95x100 _
’ 1135 1135
135,90 LIS260x11x7
T 113x85
34.2;105 % 2=(304 x 14)—-2786 =4256—2786
1470
Ve —— =
105

35.3;?2=3/1061208 = 3/(102)> =102

36.2; +4% +6%, +8%, +10%, +127, .........
37.1;x12-11, x10-9, %8 -7, 65, .........
38.5;x3-5,%x3-5,x3-5,x3-5, .........
39.1;(99)% (98)%, (97)% (96)%, (95)%, (94)% .........
40.4;7°-4=339,9°+4=733,(11)’-4=1327
(13)*+4=2201, (15))—4=3371,(17)* +4=4917

41. 3; Let the initital cost price be x

Then, 1.35x—1.24x =528

— 0.11x=528
_ 28 4800
= X011

140
: i =4800x — =
. Require S. P. 100 6720

42. 2; Let the age of Rahul, Ajay and Vijay be x, y and z

respectively,
X+y
H =51
ere, 5 5
ox+y=102 L (1)
Similarlyy+z=72 .. (i)
x+z=86 L. (iii)

Solving equation I, IT and II1, we get, x =58, y=44, z=28
o After 12 years Ajay’s age =44+ 12 =56 years and
Vijay’s age =28 + 12 = 40 years.

IBPSPO-PT-B-015
abhiram

. R . _&—1_7.5
.. Ratio= 40 5 /F

105 108 112
X X

43. 2; Amount aftger three years = 7% 100 100 100
=8.89056 lakh = 889056
. C.1.=889056—700000 =% 189056
44.1; There are nine letters. Taking the three vowels (E, E, A)
as a unit, total number of letters becomes 7.
D is repeated twice, and E is repeated twice among vowels.
*. Total number of arrangements
131

= 5><5 =2520x3="7560

45. 3; n(s) = No. of ways in which seven persons can sit
around a round table = 6!
As three persons can be taken as a unit total persons
=5 and number of ways in whcih five persons can sit
around the table = 4! and three persons can sit in 3!
ways among themselves.
~ n(E)=4!x3!
431 1
- PE= TGS
46.2; Let length=x
breadth =y
x+y=281
xy=_828

(x-y) =4(81)> -828x4
= V65613312

= /3249
=57

x+y =81
x—-y =57

2x =138
. x=69 andy=12

*. Original | th—ﬁXIOO—B»O
- Original length = == =30cm

.. Perimetre=2(30+12)=2x42=84cm
47.2;
Let their speedsx be u km/hr and vkm/hr

600 .
" u+V:T:75 ..... 0]

andu—v=15km/hr ..(i1)


fg
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From equation (I) & (II), u=45 km/hr and v=30 km/hr
.. Requiredratio=2:3
48. 5; Let the work be completed in x days.

A’s one day’s work = ——

30
. A’ 1 d k_&—l
o A’s 10 days, work = 30 3

B’s one day’s work = a5

x
[..B’s (x—5) days] work = a5

C’s one day’s work = 0

X
. C’sx days work = 0

1 x-5 «x
LTt ——t—=1
3 45 60
60+4x—-20+3x

180

1

Tx+40 1
180

7x=180-40

Tx=140

140
LXE =20 days

Uy

. . 3905 .
Daily earnings of A+ B+ C= —— =355 (1)

49.4;
? 11

. . 3055 .
Daily earnings of A+ C = BERE 235 (i)

. . 4760
Daily earnings of B+ C = 7 - 280 ...(iif)

From (i) and (iii), Daily earnings of A=355-280="75
". Earningsof Ain 15 days =75 % 15=1125

. 60%o0f1125= 12560 _ 675
. 0O = 100 =
50. 3; Let the distance between p and q be x km and speed
of train y km/hr.
X
— =33 .l
. 0
x e

y-10 =55 ..(11)

Solving equations (i) & (ii)
x=825km, y=25 km/hr
51.4; For A, 3rd class =20% =35

35
=—x100 =
Total 20 175

" Istclass =36% pf175=63
Similarly we will find for other schols also.
. Total passed = 1610 and total Ist class =561
.. Difference=1610—561 = 1049
52. 3; Total (3rd class) =459
Total passed = 1610

459x100
1610
53.4;,A=63,B=120,C=75,D=112,E=126,F =65
54. 1; Total (1st)=63+120+75+ 112+ 126 + 65 =561
Total (3rd)=35+36+ 100+ 80+ 78+ 130 =459
. Total (1stor 3rd) =561 +459=1020

. Percentage = = 28.5%

0
. Average = 6 - 170
36x100 50
X —

55.5; B(1stclass) = 15 100

=120
E(3rd class) =78

, 78
- Required percentage = = 100 =65%

56.1;
L 23p-20.01=0

20.01

57.2;

L p=.1764

o p=42

IL q2=1764

soq=+42 [p=q]

58.5;
L p>-26p+168=0
= p*—12p-14p+168=0
= p(p—12)-14(p—12)=0
= (p-12)p-14)=0
s p=12,14
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IL ¢*+25q+156=0
= ¢*-13q-12q+156
= q(q-13)-12(q—13)=0
= (q—13)(q-12)=0
L q=12,13
59.2;
L p*-13q+42=0
= p’—-6p-Tp+12=0
= p(p-6)-7(p-6)=0
= (p-6)(p-7=0
.. p=6,7
IL >+q-42=0
= q*+7q-6q—-42=0
= q(@+7)-6(q+7)=0
= (q@+7N(q-6)=0
s q=6,-7
60. 3; Equation (I) x3  18p—15q =-141
Equation (I) x5 25q+15q = 55

43p = 86

86
T 43
Sp+3q=11

= 3q=11+10

=2

. <
.97 3 7 [p<dq]

61. 1; Percentage profit of A=40%

48.6-36

Percentage profit of B= x100 =35%

.. Difference=40-35=5%
62.4; Income of A=32.5
Percentage profit of A=25%

100+ 25
. ProfitofA=32.5-26=6.51akh
Profit of B=35-25=101akh
Net profit of Aand B=10+6.5=16.5 lakh

.. Expenditure of A= =26 lakh

63. 3; 2013 ; Percentage profit=
64. 1; Expenditure of A= 45 lakh

- Az 45x 10 _ o s n
O ncome o = 100 = . a

.. Profit of A=4.5 lakh and
Profit of B=80-50 =30 lakh

IBPSPO-PT-B-015

x100 =75%

4.5
%= 3—0><100 =15%

65. 4; Income of A= 90 lakh
) 100
Expenditure of A= 90 o0~ 75 lakh

.. Profit of A= 15 lakh,
Profit of B=72-45 =27 lakh

=80%

. 27-15 1200
- Required percentage = — 5 100 =
(66-70)
Person Department Colour
Sapna R&D Yellow
Tanmay Designing Blue
Ujit Production Black
Vansh Designing Brown
Wasim Designing Violet
Xavier R&D White
Yunis Production Orange
Zaheer R &D Green
66.2; 67.1; 68. 3; 69.3; 70.2;
(71-75)
71.1;

(I) Conclusion I follows.

(II) There is no relation between goat and cat. So,

conclusion I doesn’t follow.

(IIT) There is no relation between rat and dog. So,

concusion III also doesn’t follow.

(I) Conclusion I doesn’t follow.
(IT) Conclusion II doesn’t follow.
But both are complamentary pair.
(IIT) Conclusion I1I doesn’t follow.



73.1;

=
gﬁ o,

(I) Conclusion I follows.

(IT) Conclusion II also follows.

(IIT) Conclusion III also follows.
74.2;

ST

(I) Conclusion I doesn’t follow.
(IT) Conclusion II also doesn’t follow
(IIT) Conclusion I1I follow.

75.4;
G Qo)

(I) Conclusion I doesn’t follow.
(IT) Conclusion II also doesn’t follow.
(IIT) Conclusion III also doesn’t follow.

(76-80)

76. 1; Given :
Y>Q>R=S ..(0)
Y=2Z ..(ii)
Y>A ...(iii)

Combining (i), (ii) and (iii), we get
A<LZ=Y>Q>R2=S

(I) Z> Sis true. So, conclusion I is true.

(II) S> A, we cannot compare A and S. So, conclusion II

is not true.
77.4; Given :
Q=T (D)
T<Z ..(i)
Y=2Z ...(iii)
Y>A o(1V)

Combining (i), (i1), (iii) and (iv), we get

Q2T<Z=Y>A

(I) T=Y is not true. So, conclusion I is not true.

(II) Y> Q, we can’t compare Y and Q. So, conclusion II
also not true.

78.4; Given :
T<U ..(1)
U>S (i)
U=X ...(iif)
Combining (i) (ii) and (iii), we get
T<U=X>S

(I) S<T, we can’t compare S and T. So, conclusion I is
not true.

(II) T <X s not true. So, conclusion II is not true.
79. 1; Given :

N<A=T (D)

B<H>M>T (i)

Combining (i) and (ii), we get

N<A=T<M<H>B

(I) A<His true. So, conclusion I is true.

(I) N> M is not true. So, conclusion II is not true.
80. 4; Given :

K<L ()
L>M (i)

M<O<P ...({if)
Q=K (i)

Combining (i), (i1), (iii) and (iv), we get

Q=K<L>M<O<P

(I) Q=M, we can’t compare Q and M. So, conclusion I is
not true.

(II) P> L, we can’t compare P and LK. So, conclusion II
is also not true.

(81-84)
80 m
mizee R N
Q School A0
20 m
P 60 m O
81.2;

82. 1; Total distance =80 +40+ 60 +20=200m
83. 2; If total 30 students ahead of Rahul So, Rahul will take
to enter the school
=30 x 1.5=45 minutes.
9:45+45=10:300’clock

84. 4; Shortest distance M Q = y/(MR)? + (QR)

= 1/(20)* +(20)?
= 400+ 400

= /800 = 20@ m
85. 4; Child =Ragini grandmother’s only son’s son =Ragini’s
father’s son = Ragini’s brother. So, mother of the child
is Ragini’s mother.
86. 4;

%) Y©
NO— U _\/’(*‘)_ X©
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(87-91)

(MfKCh)
(June) G Hully)
(ApriDB E (January)
(February) C F May)
(Algust)
87.2; 88.1; 89.4; 90.2; 91.5;
(92-96)

A S S S .

v U Yy w T Xx*
92.5; 93.3; 94.1; 95.4; 96. 1;
(97-100)

net— P81
income — K82
from — Q85
operation — S84
profit— R87
ordinary—S72
activities— T91
for — M93/L77
the—N75
period — L77/M93
97.4; 98.2; 99.1; 100. 3;



